Problems for lecture 8
Solve the following linear ODE's supplemented with corresponding initial or boundary conditions:
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Hint: use properties of trigonometric functions and represent 
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 in the form of a trigonometric function of a double argument.
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Hint:  use the representation 
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, substitute this into the right hand side of this equation and open brackets. Then, combine terms appropriately to find out that 

[image: image9.wmf]t

t

x

dt

t

dx

dt

t

x

d

3

2

2

sin

)

(

)

(

)

(

=

+

+

[image: image10.wmf]0

)

0

(

,

0

)

0

(

=

=

dt

dx

x


4. 


Hint:  pay attention to the remark in the middle of lecture 8.
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